790 DUKE, orange - direct delivery 2023 <2023><EU><F9603WQ>
ACCESSORY PACK
68965



P

KEINE ABBILDUNG
NO ILLUSTRATION

P

TECHNISCHE DOKUMENTATION
TECHNICAL DOCUMENTATION
DOCUMENTACION TECNICA
DOCUMENTATION TECHNIQUE
NOTE TECNICHE




Pos Part Number Description Additional Text Quantity
0 69008121160 Special screw M5x12 2.00
0 C90712040000 Rear view mirror, left 1.00
0 C90712041000 Rear view mirror, right 1.00
0 C90712008000 Grip handle passenger 1.00
0 C90708023010 Splash protection 1.00
0 54603048600 RANGE CHANGE METAL NUT M5 INOX 2.00
0 C90712085000 Bracket reflector 1.00
0 C90712082000 Rear reflector red 1.00
0 C90708061050 Rubber washer 6.5x14x2.3 2.00
0 C0000250501600S HH Collar Screw M5x16 ISA30 SS 4.00
0 0035080506S AH collar screw M8x50 ISA45 4.00
0 0081250181 SCREW FOR PLASTIC 50X18 T20 2.00
1 C3214405EN-UK Owner’s manual 790 Duke, orang 1.00
2 C63729099000 Tool set 1.00




